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St Basils Catholic Primary School Calculation Policy

Objective & Strategy Concrete Pictorial Abstract
Combining two s 5
parts to make a B 4+3=7 —-[;
whole: part- whaole “"ﬂ“\\aj -_
model Use part part whole model. ’ _’
Use cubes to add two num- I - Use pictures to Use the part-part
bers together as a group or ...l.. add two num- 10=6+ 4 whole dizgram as
in & bar. 1Eim 5k h'El'Stﬂ'EEﬂlEl'_ shown above to move
35 @ Eroup arin into the abstract.
T -
Starting at the big- 12+5=17 5+12=17
ger number and bod bttt | Place the larger number in your head and
10 11 12 13 14 16 16 17 18 19 IO
counting on count on the smaller number to find your
Start wrrh the larger number on the bead atthe | number on the number o
string and then count on to the smaller num- | |ine and count on in ones or in one jump to
ber 1 by 1 to find the answer. find the answer.
Regrouping to make 6+5=11 74+4=11
10.
This is an @ssential skili for If | am at seven, how many more do | need to
column oddition lotar. Start with the
mn gadizan B Use pictures or a number line. Regroup or make 10. How many more do | add on now?
ndm e partition the smaller number using the part
anguss part whole model to make 10.
smaller numbser
to make 10. g+5_|E A
Use ten frames. (1] 4] P
Represent & use

number bonds and
related subtraction
facts within 20

2 more than 5.

Emphasis should be on the language
‘1 mave than 5 is equal to &.°

2maorethan 5is 7.°

‘8 iz 3 more than 5.7

DLLIAAY =




St Basils Catholic Primary School Calculation Policy

Objective & Concrete Pictorial Abstract
Strategy

Adding multiples of 50=30=20 B B f 20+30=350
ten ’ - Innn R

\ HH | [ | 70=50+20

= Az + Ebane - kane -q-ﬂ-l-l:l =En
o _ I+ 0=
Maodel using dienes and bead strings Use representations for base ten.

Use known number

E Children ex- e []+1=16 18-1=[|
e phr?muf m 1+ = | |
Part part whole 2_0 <$I making pum- ez EI‘ . []=18 16— ]
‘ (J+[]=20 20-[]=[]
Using known facts I:ID|:| + DI:ID oo |:|Du o o= 3+4=7
0 W0-emn| e e e
Children draw representations of H,Tand O 300 + 400 = 700
T e eeee - -
Wy |

3+4=7

7+3=10

23 +25=48

LLIAAY =
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Objective & Concrete Pictorial Abstract
Strategy
Add a two digit EELLL I ee art 17 +5 =22 17+5=22
number and ones oCOoco Fas pa \
T Use ten fi to
o/® ."D[-‘ rr:ij!keE'rr‘n:girlT:fen and number Explore related facts
L[—" line to
H§7 17+5=22
| A6 r . 5+17=22
. 22
Children explore the pattern. @ 13—17=5
17 £5=22 } ) i 17 5
27+5=32 2 2 2 (2=
- =
. _ 27 +10=37
Add a 2 digit num - 27 + 30
ber and tens .: L10 +]0 +10 2T+ 20=47
| i 27+0=57
[ !
25+ 10 =35 ] ] [ l
T J 1 1
Explore that the ones digit does not change A ET 37 47 57
Add two 2-digit / 25 +4
numbers // og «20 +6 B¢ =M &N s m),!, 15:4,3;,
oo o T o T 20 +40 = 60
KO0 USINE DIENES , PIBCE YaIUe COUNTars Use number line and bridge ten using part 5+7 =12
and numican wihole if necessary. Bl +12=72
Add three 1-digit 4% 7 +B8) = |1D| +|? |
numbers + +
s 4 10

.ﬁ Vv %

Combine to make 10 first if possible, or

bridge 1o then add third digit

Regroup and draw representation.

. Ll

Combine the two numbers that makes
bridge ten then add on the third.

Liddy =
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Objective & Concrete Pictorial Abstract
Strategy
Column Addition—na ! 2! M!MEI using Children move to drawing the counters using
regrouping (friendly mm [ 1] ] DI'EI"rES_ ar nu- a tens and one frame. 2 2 3
numikers) nicon

[nsssmmsansjy 1] ]

Add together the ones first, then the

Add two or three 2 or 3- | tens.
digit nurmnbers.
o | ® |
E:I | | i b,
elolololl T 1 o BEE
i IL
‘g
I
Pdove to using place value counters
Column additon with 11
rEgrouping. i3

R
S -

5 "-Eﬂ

Exchange ten ones for a ten. Model
using numican and py counters.

1
[P
|

+114

tens ones
. . Add the ones first, then the tens, then
the hundreds.

@ ® ®W% children can draw a rep- 20 + 3

° ® % acantation of the gridto
. .'. understanding, @rrying G[} + l”.‘.; — ?3

L .' the ten underneath the
® " ine
Start by partitioning -
5 1 the numbers before RIS
—— formal column to
e show the exchange. —l_ 8 5

ILIAAY <=



St Basils Catholic Primary School Calculation Policy

Objective & Concrete Pictorial Abstract
Strategy i 1
Y4—add m.lmberswith counters to add, exchanging ten ones for e :: L ::
up to 4 digits aten and ten tens for a hundred and ten %9 . 3 5 | 7
hundreds for a thousand. :
9 g0 o (®°, 2L 3 =
Hesdets | Ters | Ones % oo .: 2
' < |
rl ‘ = —
L 7 1 5 1 313
24 nn shuda 2 < Continue from previous work to carry
Draw representations using pv grid. hundreds as well as tens.
Relate to money and measures.
Y5—add numbers with | As year & 237 +B179 T 728
more than 4 digits. +54 6
tens| ones 4 tenths| hundredthy  jens | omes ks Wﬁ; 127 4
- oD o0 500 :
Add decimals with 2 dec- ) .. ol 1 B | E 203 - 59
imal places, including 00%0 |0 poses  laash +£7: 55
o0 .
' Introduce decimal place value counters £ .3 ;rq'
and model exchange for addition. Q)
Y6—add several num- | As¥s AsYS 81,0519
bers of increasing com- 366 %
+12.0,5 5.1
‘ 2'?'15 i 9
Including adding money, '
measure and decimals 23. 3¢ |
with different numbers Insert zeros for 9-080
of decimal points. place holders. +‘S‘? : 338
9350 l’
21 2
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Objective & Concrete Pictorial Abstract
Strategy
Taking away Use physical objects, counters | cubes stc ; " ¥ . .
- ) AT ALY A
ones. to show how objects can be taken away. NSNS y ; 7_4=3
ool AN Ak
— = |'r "'_-_' .-'J . : .
6—4=2 S, /x
“H 15_3=E| 16—9=7
L]
A2 =3 A Crass out drawn objects to show what has
been taken away.
Counting back Put 13 in your head, count back 4. What number
o9y %o AAA(8-3=2] e
—_ttr
Move objects away from the group, 0 1 a4 4 4 & & 7 8 ® 10
counting backwards.
Mowe the beads
along the bead Count back in ones using a number lina.
“ ~ string as you count
Igeeeenmes w backwards.
Find the Compare objects and amounts Hannah hasl2 sweets and her sister has 5. How
Count on using a number line to find the many more does Hannah have than her sister.?
Difference difference.

m 7 'Eewen le 2 mare than four
D 4

‘T am 2 years older than my

mioter’
5 parch

ririts

P
Lay objects to represent bar model.

"NOLLOVALENS =
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Objective &

Strategy

Concrete

Pictorial

Abstract

Represent and use
number bonds and
related subtraction
facts within 20

Part Part Whaole
model

Link to addition. Use
PP model to model

Ei the inverse.

k

1_-

If 10 is the whole and 6 is one of the arts,
what s the other part?

-ﬁ'ﬁ,ﬁ'%

Move to using numbers within

the part whole model.

10—6=4 Use pictorial representations to show the part.
Make 10 14—9 13—7 16—8
13-7F=[86] , .
“ ' ‘ % (4] How many do we take off first to get to
: = - |_T— ST i 107 How many left to take off?
[ﬂ & | e[ | |_._, Jump back 3 first, then another 4. Use ten
as the stopping point.

Make 14 on the ten frame. Take 4 away

to make ten, then take one more away 5o

that you have taken 5.
Bar model

e
T

5—2=3

I |

10=8+2
l0=2+8
10—2=8
10—8=2

"NOLLOVALENS =
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Objective & Strategy Concrete Pictorial Abstract
Regroup a ten into .
ten ones " * v, - )
* 1 N g =,
E  F2F 20—4 =16
=0 — 1 =

Use a PV chart to show how to change a

ten into ten ones, use the term ‘take and

miake’'
Partitioning to sub- 34—13=21 wara P Children draw representations of Dienas and

T =

tract without re- m— e cross off.
Erouping. 43—21=22
Friendly numbars” = l _; D ﬁ

Usze Dienes to m— o 0

show how to par-

titian the number

when sublracting =

without regroup- | mmme— = 43—21=22

ing.
Mzke ten strategy

= TN —_— ———
Progression should be 2 n : i =
Crossing one tan, crossing e —¥ k| " = t 03 93—-76=17
2 2 ™) 2i) counting on” s find ‘difference’

mora thon ona ten, oross-
ing the hundreds. 34—28

Use 3 bead bar or bead strings to model
counting to next ten and the rest.

Use a number line to count on to next ten
and then the rest.

"NOLLOVALENS =
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Objective & Concrete Pictorial Abstract
Strategy
Column subtraction o -
i - 1F : ‘ (ssssansnns) a | Coksatoos ‘;7—1.';:23
without regrouping 181 <E 47 A 3 2 5 ! 5 /
. 111 B [Fisassesss] 40+ 77
(friendly numbers) AR I |- 20+ 4
| — e bl
= — =5 253
1 ™ S :
] ‘: i Intermediate step may
11 Darw representations to support under- be needed to lead to 29
il standing clear subtraction under- ~
Use base 10 or Numicon to model standing. _| / .
L
Column subtraction 1

with regrouping

..-1\: ; :

'

i

Begin with base 10 or Numicon. Move to
pv counters, modelling the exchange of a
ten into tten ones. Use the phrase ‘take
and make’ for exchange.

Children may draw base ten or PV counters
and cross off.

Begin by parti-
tioning into pv
columns

FﬁiS-suz.;“ I! Then move to
L v -
sy 2 B formal method.
o 8 2
&

"NOLLOVALENS <=
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Objective & Concrete Pictorial Abstract
Strategy

Subtracting tens 234 -1749 Childran to draw pv counters and show their
and ones exchange—see 3 e i
Year 4 subtract with @B g@ ..:. 2 5 e S- u—
e -1562
Introduce decimal subtroc- IEJ ®&E ... I I q 2
tion throwgh contet of EHEEED .- . .

model process of exchange using Munmi-

Use the phrase ‘take and make’ for ex-

con, base ten and then move to PV coun- change
ters.
Year 5 Subtract As Year 4 children to draw pw counters and show their " *
- . h _ .Br X IIG "5' 1G.
with at least 4 dig- exCchange—see ¥3 B 2128
its, including money
28928
and measures.
Subtract with decimal Use ZEMasS o ] 4
b ]
wolies, including mirtures for place- ,;'?/i/ E' /q/ ) O
of ntegers and decimals holders.  — 37 2 - 5.
an gning tha decim
796 - S
—_— L 4 [l
rear o ¥E16,6 9 9
with increasingly - 29.949
large and more 6 07 5 0
complex numbers 1
and decimal values.
V'S - s q by
69 - 339k

" NOLLOVLENS
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Objective & Concrete Pictorial Abstract
Strategy
Doubling IUse practical activities using manip- | Draw pictures to show how to double numbers | Partition a number and then double each part

ultives including cubes and Numicon
to demonstrate doubling

/B 0+0 =
' M+ =
double 4ix A E

Double 4 is 8

before recombining it back together.

16
/7 \
10 b
I il I x2

20 + 12 =32

Counting in multi-
ples

4% 18 +
Count the groups as children are skip
counting, children may use their fin-

gers as they are skip counting.

-

Children make representations to show
counting in multples.

T
—

-ivl‘-\-...--_l‘-\-- _l"\_,..-q—'\-...-i\-....-'-L\-\.,..:\. T
rﬁzﬂlG
la

Count in multiples of a number aloud.

Write sequences with multples of numm-
bers.

2,4,6,8,10

5,10, 15, 20, 25, 30

Making equal
groups and
counting the total

| & &
B ] <[]- o

Use manipulatives to create equal groups.

Draw <4 toshow2x3 =56

Draw and make representations

2ud=8

X NOLLYOMdLLINN =
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Objective & Concrete Pictorial Abstract
Strategy
Repeated addition Use pictorial including number lines to solve write addition sentences to describe objects
Prob There are 3 sweets in one bag. and pictures.
How many sweets are in S bags
altogether?
- . ‘303?3+3f3
:‘.o"’ .’.021:15 . _ .
B RO 2+2+2+42+2=10
@@@ (® o) (® o) (®0)
2.7 OSSN ES
Use different objects to add y : \':/\./‘\:‘/\”—‘:
equal groups
Understanding ar- | Use objects laid out in arrays to find the an- Draw representations of arrays to show under- 3x2=6
rays swers to 2 lots 5, 3 lots of 2 etc. IR e semven e
2x5=10

TN T
3508 284
s222 ¢

® -

o0e

XNOLLYOMdLLINN =
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Objective & Concrete Pictorial Abstract
Strategy
Doubling Model doubling using dienes and PV | Draw pictures and representations to Partition a number and then double

Coumnters.

mip 0
Uil

N\

BED mEe
oo gE e

40+ 12=52

show how to double numbers

each part before recombining it back
together.

16
7N\
10 B
I LY x2

20 + 12 =32

Counting in multi-
plesof 2,3, 4,5, 10
from O

(repeated addition)

Count the groups as children are skip
counting, children may use their fin-
gers as they are skip counting. Use bar
models.

54+54+5+54+5+5+5+5=40

Mumber lines, counting sticks and bar
models should be used to show repre-
sentation of counting in multiples.

r
¥
T
L
¥
¥

Count in multiples of a number aloud.

Write sequences with multiples of
numbers.

0,2,4,6,8, 10
0,3,6,09,12, 15

0,5, 10, 15, 20, 25, 30

4 x 3 =
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Objective & Concrete Pictorial Abstract
Strategy
Multiplication is Create arrays using counters and cu- | Use representations of arrays to show different |49 — 3 .. 4
commutative bes and calculations and explore commutativity.
12=4x=x3
Use an arayto wits g
muliplication sentences and
reinforce repeated addibon. ‘
00000 F
00000
Pupils should understand that an array can OGOOG
represent different equations and that, as I
multiplication is commutative, the order of o+5+5=15
the multiplication does not affect the answer. 3+3+3+34+3=15 1
S5x3=15 l
Ix5=15 I
Using the Inverse I 2xd=8 O
This shouid be e >
taught alongside B:2=4
division, so pupils B:4=2 I
learn how they O«0=0 I I
work alongside Boax2 °
each other. D " D = D B
g-Q-0 [ — —
0-0-0 =
show all 8 related fact family sentences. x
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Objective & Concrete Pictorial Abstract
Strategy
Grid method Show the links with arrays to first intro- children can represent their work with place Start with multiplying by one digit num-

e tha orid mathed

X i 1 £ rows
A aE £ mows
LI

Move onto base ten to move towards a

more compact method.

:I T I 1]
J oo
%nu
o
G O CH

Move on to place value counters to show
how we are finding groups of a number. We
are multiplying by 4 so we need 4 rows

e @ ® :

4 rows of 13

Labimdiubd

Caxie

Fill each row with 126 )
e @ o .

wvalue counters in a way that they understand.

They can draw the counters using colours to
show different amouwnts or just use the circles in
the different columns to show their thinking as
shiown below.

Bar model are used to explore missing numbers

Add up each column, starting with the ones
miaking any exchanges needed
a @ [ |

Then you hawve your answer.

4% =20

bers and showing the clear additicn

alongside the grid.
> 30 5
7 210 35
210 + 35 = 2L5

Maoving forward, multiply by a 2 digit number
showing the different rows within the grid
method.

10 8
10 100 a0
3 30 24

X NOLLYOMALLINN <
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Objective & Strategy Concrete Pictorial Abstract
Grid method recap Children can represent their work with place
from year 3 for 2 Useﬂﬂva'uemolflwswﬁwhowwe ' value counters in a way that they understand. start with multiplying by one digit num-
T £ 72 are finding groups of a number. We are mul- - bers and showing the clear addition
digits x 1 digit ] They can draw the counters using colours to ; )
Sy gt o e sansl S awe . show different amounts or just use the circles in st tha gl
@ ® ® | chuses | the different columns to show their thinking as e e s |
X | 4x120
Move to multiplying §= ngg i ’ e ———
N oM (O t 7 210 35
3 digit numbers by oM(Q0
1 digit: (year 4 ex- |f-eacnrowm1ze 210 + 35 = 215 |
pectation)
®_es
Column multiplication | Children can continue to be supported by 327
place value counters at the stage of multipli- x 1300 20 |7 -
regrouping. 321x2 =642
The grid method my be used to show how this 28
RS relates to a formal written method. 80
portant at '
| thisstage
““ | thatthey
- always |
I I .. : m.m‘ '
| the ones
. I I ',': first. Bar modelling and number lines can support
learners when solving problems with multiplica-

The corresponding long multiplication is mod-
elled alongside

tion alongside the formal written methods.

XNOLLYOMdILINN =
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Objective & Concrete Pictorial Abstract
Strategy
Column Multiplication for Hisrckrod
3 and 4 digits » 1 digit. . » 300 |20 |7 ) 327
It is im- 4 | 1200 |BO |28 a
portant at X
“_= | thisstage
. | s that they 28
- always B0
“ I -7_';:- multiphy
the ones 1200
=0 | fest
e 1308
children can continue to be supported by
place value counters at the stage of multipli- 3 2 ? This will lead to
cation. This initially done where there is no % U—
regrouping. 321x2 =642 a compact

JBOS method.

Column multiplication | Manipulatives may still be used with the cor- 83 on the
responding long multiplication modelled 10 3 1|8
alongside. 1113 first row
= [Bx3=24 can
5 al ™ ‘ v
= ing the 2 for 20,
1|8 |0 then 1 x 3)
213 )4 1E x 10 on the
s 2nd row. Show
multiplying
by 10
| 23 vty
o | & putting
ZEND in

O L (23dse)
. . £ units first
confinue to use bar modelling to support prob- | T £ 1234210

lem solving I .:3"? q_ ||_|_
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Objective & Concrete Pictorial Abstract
Strategy
hMultiplying decimals Remind children that the single digit belongs

up to 2 decimal plac-
es by a single digit.

in the units column. Line up the decimal
|points in the guestion and the answer.

-U'|]D= Ca)

X
A

XNOLLYOMdLLINN =
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Objective & Concrete Pictorial Abstract
Strategy
Division as sharing Children use pictures or shapes to share quanti- .
g 12 shared between 3 is
Use Gordon ITPs for & & &% 4
modelling

£ $3

8 Shiareu pelwesn 215 4

| | @ “
- 4 4

12 shared berween 3 is 4

1 have 10 cubes, can you share them equally in
2 groups?
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Objective & Concrete Pictorial Abstract
Strategy
Division as sharing Children use pictures or shapes to share quanti- o w
g 12+3=4
Children use bar modelling to show and support
understanding.
| have 10 cubes, can you share them equally in
2 groups?
000 000 000 000
12=-4=3
Division as grouping | Divide quantities into equal groups. Use number lines for grouping 28=7=4
Use cubes, counters, objects or place value /.’\/.’\/},'\/d\

counters to aid understanding.

6123458789 101142

3 » : 4

12+ 3=4

Think of ume war a5 @ winuse. spuciw nd the num-
ber of groups you are dividing by and work out
how many would be within each group.

20
A

204 95=?
Sx1=20

Divide 28 into 7 groups. How many are in

each group?

+ NOISIAIA S
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Objective &

Strategy

Concrete

Pictorial

Abstract

Driwvision as grouping

Use cubes, counters, objects or place value
counters to aid understanding.

24 divided into groups of 6 =4

896G + 3 =32
e e %o
e “0 ©e
c® o® ¢

Confinue to use bar modelling to aid solving
division problems.

20
204+ 0=
9 x?7=20

How many groups of 6 in
247

24+6=4

Diivision with arrays

pov

Link divisicn to multiplication by creating an
array and thinking about the number sentenc-
s thiat can be created.

EE15+3=3 35x3=15

15+5=3 3x5=15

Draw an array and use lines to split the array
into groups to make multiplication and division
SENtEnCes

.....
) @

OQ
@Q

COO
GO

Find the inverse of multiplication and division
sentences by creating eight linking number
semtences.

Tx4=2E
4xT=28
2E=T7=4
2E=4=7
2E=T7 x4
2B=4ux7
4=28=+7

T=28+-4
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Objective &

Strategy

Concrete Pictorial

Abstract

Dvivision with remain-

ders.

14=3= Jump foreard in equal jurmps on a number line

then see how many more you need to jump to | Mainder using r.

find a remainder.

O

Draw dots and group them to divide an amount

Divide objects between groups and
see how much is left over

-
b

i
B

29 + 8

and dearly show a remainder.

OOOGL

Use bar models to show division with remain-
ders.

37

Example wathout remainder
40+ 5
Agk “How many 5g in 407

+5+5+5+5+5% 0+

05

=8 frves

1015 200 25 30 35 40

Example with remaindar,
3E+6

+E+B+G+0+ 5+ = f gixes wilh a rernainder aof 2

b6 12 18 24 30 35 38

Fos Iarger nmbers  when il becomes melfhicien 10 count in 5||1gl! multiples, hlgger
jumps can be recorded usng known facts

Complete written divisions and show the re-

3 REMAINDER 5

Tt 1

dividorad  divisor quoitiam

LS By e
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Objective & Concrete Pictorial Abstract
Strategy
Divide at least 3 digit |96+ 3 Ters I pits studenits can continue to use drawn diagrams Bagin with divisions that divide aqually with
numbers by 1 digit. with dots or circles to help them divide numbers | N0 remainder.
3 2 into equal groups. 2 1 B
N CEe ee 3
ivision
3 D2 00
oo ee 4.8 7 2

Use place value counters to divide using the
bus stop method alongside

e e

[ETEA
424+ 3

42 = 3=

start with the biggest place value, we are
sharing 40 into thres groups. We can put 1
ten in each group and we have 1 ten left owver.

6 ee

(O]
(=)
()

we axchange this ten for ten ones and then

share the ones equally among the groups.

(O]

wie look how much in 1 group so the answer
is14.

Encourage them to move towards counting in
multiples to divide more efficiently.

Mowve onto divisions with a remainder.

g8 6 r 2
3
S|4 3 2

Finally mowe into decimal places to divide the
total accuratahy.

1 4
16 21
35‘511 0

-
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Long Division

Step 1—a remainder in the ones

h to
041R1

4) 165

4 does not go into 1 (hundred). 5o combine the 1 hundred with the & tens (160).

4 goes into 16 four imes

4 goes into 5 once, leaving a remainder of 1.

thhto

0D400R7
8)3207

& does not go into 3 of the thousands. 5o combine the 3 thousands with the 2 hundreds (3, 200).

g goes into 32 four fimes (3,200 + 8 = 400)
8 goes into 0 zero times (tens).
8 goes into 7 zerc times, and leaves a remainder of 7.
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Long Division

Step 1 contimued...

hto

061

4) 247
=4
3
When dividing the ones, 4 goes into 7 one time. Multiply 1 = 4 = 4 write that four under the 7, and subract. This finds
us the remainder of 3.

Check: 4 = 61+ 3 =247

th h t o

0402
4) 1608
-8

1

Vhen dividing the aones, 4 goes into 9 two times. Multiply 2 = 4 = 8 write that eight under the 9, and subract. This
finds us the remainder of 1

Check: 4 = 402 + 1 = 1,608
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Long Division

S5tep 2—a remainder in the tens

Two goes into 5 two times, or 5 tens
= 2 =2 whole tens —- but there is a
remainderl

Tofind it, multiply 2 = 2 = 4, write that
4 under the five, and subtract to find
the remainder of 1 ten.

1. Divide. 2. Multiply & subtract. 3. Drop down the next digit.
il o i o I o
2 P 29
2)58 2]68 2)58
-4 -4
1 18

Maxt, drop down the 8 of the ones
next to the leftover 1 ten. You
combine the remainder ten with &
ones, and get 18

Divide 2 into 18 Place 9 into the
guotient.

Multiply 9 = 2 =18, wnte that 18
under the 18, and subtract.

1. Divide. 2. Multiply & subtract. 3. Drop down the next digit.
I o i o I o
29 29 28
27538 2758 2V58

-4 -4 -4

18 18 18
-18 -18
0 ]

The division is over since there are
no more digits in the dividend. The
fquotient is 29
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Long Division

Step 2—a remainder in any of the place values

1. Divide, 2. Multiply & subiract 3. Drop down the next digit.
htao hteo hte
1 1 18
2RTE FIETH 21213
-3 -4,
0 0E

Twa gose In1e 2 one AmMe, or 2
hundreds =2 = 1 hundred

Multiply 1 = 2 =2, write that 2 under
the fwo, end subtract o find the
remander of zern

Mext, diop down the 7 of the tens
next tn fhe zem

Diwide. Multiply & subdract. Drop down the next digit

hita htio hto
13 13 13

pl 2278 21178

-2 =2 -4

ay ar T
= & - &

1 18

Divide 2 inte 7. Flace 2 ino the
quobant.

Muiply 2 = 2 =&, writs that B under
the 7, &nd saubtrect to find the
remander of 1 =0

Mext, drop down the B of the ones
mext to he 1 leftowar tan.

1. Divide. 2. Multiply & sublract 3. Dvop down the next digit.
hitw hto hteo
138 135 133
21278 2V2TR 212783
-2 -2 -2
a7 o7 o7
- B - 6 - 6
18 18 18
-18 -18
] F]

Divide 2 inte 15, Place 9 into e
cuctient

Mulbiply % = 2 = 13, wmie that 15
under the 13, and subtract ¥ find tha
remainder of Zero,

There ara no mons digke 1o drop
down . The quctent s 139




